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Factor out any ( Move terms Make first term
into exponential o
‘ common termsJ positive.

order.

| order |

The signs of the No

two factors will be <
different (a positive
and a negative).

Are there factors
whose difference
equals the second
coefficient?

Is the sign of the
second coefficient
positive?

The larger factor
will be negative.

Multiply the
first and last
coefficients.

v

List all whole
number factors
of this product.

Is the sign of the
third coefficient
positive?

Use quadratic
formula or

complete the square

END

The larger factor
will be positive.

The signs of the two
factors will be the
same (both positive
OR both negative).

Are there factors
whose sum equals
the second
coefficient?

Is the sign of the
second coefficient
positive?

The signs of

both factors will
be negative.

Yes

The signs of
both factors
will be positive.




EXAMPLE:
3*6=18
1118
—>» 2 9 —>
3 6

3X2-7x-6

1. functions of the two expressions
will be different
2. larger factor will be negative.

+2 and -9

3X2+2x-9x -6
(3x2+2x) -9x - 6
X(3x+2)-9x-6

X (3x+2)-3(3x+2)

(Bx+2)(x-3)

Select the two factors
that fit the above
description and mark
the sign of each.

v

Rewrite the expression
with the two signed
factors replacing the

second term.

A 4

Group the first two
terms, and the second
two terms of the new

expression.

A 4

Bring forward the
greatest common
factor of the first
group of terms.

A 4

Bring forward the
greatest common
factor (and sign) of the
second group of terms.

No

Acre the remaining
terms in each
grouped expression
the same?

Bring the grouped
expression forward, and
write the remaining
expression in
parentheses.

Recheck your
factoring, grouping,
and whether the terms
are in proper order.




